
MANUFACTURERS AND SUPPLIERS OF HYDRAULIC COMPONENTS

FLOWFIT LOG SPLITTER KITSFLOWFIT LOG SPLITTER KITS294

FLOWFIT LOG 
SPLITTER

KITS

LOG SPLITTER KITS

PRODUCT PAGE
HONDA LOGSPLITTER K IT 295
LONCIN LOGSPLITTER K IT 297

QUALITY PRODUCTS

FREE ADVICE

FROMONLY£728.25+VAT

FROMONLY£508.65+VAT

FROMFROMFROMONLY

294-298 2017 Flowfit Log Splitter Kits.indd   294 18/10/2016   11:52



MANUFACTURERS AND SUPPLIERS OF HYDRAULIC COMPONENTS

295FLOWFIT LOG SPLITTER KITSFLOWFIT LOG SPLITTER KITS

FLOWFIT LOG SPLITTER KITS

www.flowfitonline.com
TECH. DATA SHEET
LSK01

)OoZfit�oIIeU�a�UanJe�oI�/oJ�SpOittinJ�&oPponents�to�sXit�a�YaUiet\�oI�si]e�UeTXiUePents�anG�peUIoUPances�
7Ke�coPponents�can�Ee�si]eG�to�sXit�poUtaEOe�3etUoO�0otoU�Xnits�anG�7UactoU�372�set�Xps��7Ke�petUoO�Xnits�KaYe�IoXU�Easic�si]es�±
����+3����+3�����+3�anG����+3�anG�can�Ee�sXiteG�IoU�Xse�ZitK�/oncin�anG�+onGa�anG�Pan\�otKeU�petUoO�enJines��
7Ke�)OoZfit�/oJ�SpOitteU�.it�coPes�coPpOete�ZitK�a�top�TXaOit\�)OoZfit�+iJK�/oZ�3XPp�tKat�is�GesiJneG�to�Xse�tKe�aYaiOaEOe
KoUsepoZeU�in�tKe�Post�eIficient�PanneU�ZitK�a�Iast�appUoacK�at�OoZ�pUessXUe��anG�a�sOoZeU�spOittinJ�action�at�KiJK�pUessXUe�
%esiGes�tKe�stanGaUG�GoXEOe�actinJ�OoJ�spOitteU�YaOYe�sXppOieG�ZitK�eacK�OoJ�spOitteU�Nit�Ze�aOso�oIIeU�as�an�optionaO�e[tUa�a����
OeYeU�opeUateG�OoJ�spOitteU�YaOYe�ZitK�aXtoNicN�oXt�IXnction�tKis�is�tKe�Post�popXOaU�OoJ�spOitteU�YaOYe�on�tKe�PaUNet�anG�coPes�ZitK
a�nXPEeU�oI�siJnificant�IeatXUes��fiUst�pXOO�tKe�OeYeU�into�tKe�Getent�position��at�tKis�point�no�neeG�to�KoOG�KanG�on�tKe�OeYeU��tKe
GoXEOe�actinJ�K\GUaXOic�c\OinGeU�IXOO\�e[tenGs��tKe�OeYeU�tKen�aXtoPaticaOO\�NicNs�oXt�to�neXtUaO��<oX�tKen�pXsK�tKe�OeYeU�into�anotKeU
Getent�position�to�UetXUn�tKe�GoXEOe�actinJ�c\OinGeU�ZKicK�Goes�not�NicN�oXt�aXtoPaticaOO\��7Kis�action�can�Ee�UeYeUseG�to�JiYe�tKe
opposite�action�GepenGinJ�KoZ�\oX�ZisK�to�opeUate�\oXU�OoJ�spOitteU�
)OoZfit�KaYe�aOso�incOXGeG�tKe�IoOOoZinJ�coPponents�IoU�tKe�tKUee�si]es�oI�OoJ�spOittinJ�s\steP�anG�is�oIIeUinJ�tKeP�as�coPpOete
K\GUaXOic�coPponent�Nit�IoU�neZ�oU�UeEXiOt�OoJ�spOitteUs�

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 004719 5.5HP HONDA LOG SPLITTER K IT 7.7 TON FORCE £728.25 € 983.15

ZZ004719 • 5.5 HP HONDA LOGSPLITTER KIT

FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL2M12 127MM LEVEL INDICATOR M12 BOLT 1
200.0514.12.024 HDM140K 02150A01L100 1
200.7022.1019.0 M8X150MM LEVER HDM140/HDM11/ 1
A110C10 A110C10 1
GPCBN080PC  8GPM LOG SPLITTER HI-LO PUMP 1
M8X25CAPHEAD M8X25CAPHEAD 8
M8X35CAPHEAD M8 X 35MM CAPHEAD 4
M8SPRINGWASHER M8SPRINGWASHER 12
M8NYLOCNUT M8 NYLOCNUT 4
204/050 DA CYL 80/70/40/500 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
BHE112/045A LOGSPLITTER BELL HOUSING 1
HC219MC048 DRIVE COUPLING ENGINE HALF. 1
ER200 ER300 GP 3 D/COUPLING SPIDER 1
HC212HB035 DRIVE COUPLING PUMP HALF 1
R1 R1 INDICATOR TO SUIT FILTREC 1
GX160UT1Q X4 5.5HP HONDA PETROL ENGINE 1

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING
23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will 
give 7.7 tons approx of cutting force.
The Low Pressure Cylinder
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder
Extension Time =  Approx 8 seconds.
The Cylinder Retraction Time =  Approx 4.5 seconds.
Cylinder speeds will alter with size of log and speed of engine. 

&203$7$%,/,7< 
$%29(�.,7�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX160Q  AND HONDA GX200Q .
LONCIN G160FQ  AND LONCIN G200FQ .
FUJI  ROBIN EY15 AND EX15.

294-298 2017 Flowfit Log Splitter Kits.indd   295 18/10/2016   11:52



MANUFACTURERS AND SUPPLIERS OF HYDRAULIC COMPONENTS

296 FLOWFIT LOG SPLITTER KITS FLOWFIT LOG SPLITTER KITS

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 004720 9HP HONDA LOG SPLITTER K IT 10 TON FORCE £1,234.38 € 1,666.40

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 004721 13HP HONDA LOG SPLITTER K IT 15.7 TON FORCE £1,287.38 € 1,737.97

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 004722 20HP HONDA LOG SPLITTER K IT 22 TON FORCE £3,056.91 € 4,126.83

ZZ004720 • 9 HP HONDA LOGSPLITTER KIT

GPCBN110PC 11GPM LOG SPLITTER HI-LO PUMP 1
FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL2M12 127MM LEVEL INDICATOR M12 BOLT 1
200.0611.13.042 HDM11S1K 03150A01L100 (1/2) 1
200.7022.1019.0 M8X150MM LEVER HDM140/HDM11/ 1
205/050 DA CYL 90/80/40/500 1
A110C10 A110C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
BHE112/045A LOGSPLITTER BELL HOUSING 1
HC319MC048 DRIVE COUPLING ENGINE HALF. 1
ER300 ER300 GP 3 D/COUPLING SPIDER 1
HC312HB035 DRIVE COUPLING PUMP HALF 1
R1 R1 INDICATOR TO SUIT FILTREC 1
GX270UT2Q XQ 4 9.5HP HONDA PETROL ENGINE 1
ER200 ER300 GP 3 D/COUPLING SPIDER 1
HC212HB035 DRIVE COUPLING PUMP HALF 1
R1 R1 INDICATOR TO SUIT FILTREC 1
GX160UT1Q X4 5.5HP HONDA PETROL ENGINE 1

ZZ004721 • 13 HP HONDA LOGSPLITTER KIT

GPCBN160PC 16GPM LOG SPLITTER HI-LO PUMP 1
FL2M12 127MM LEVEL INDICATOR M12 BOLT 1

200.7022.2001.0 M10X185 LEVER HDS15/HDS20 1
206/060 DA CYL 100/90/50/600 1

200.0718.13.002 “ HDM181K 02150A08L100 1/2”“ ” 1
BHE152/045A LOGSPLITTER BELL HOUSING 1

ER300 ER300 GP 3 D/COUPLING SPIDER 1
HC312HB035 DRIVE COUPLING PUMP HALF 1
HC325NC048 DRIVE COUPLING ENGINE HALF 1

A120C10 A120C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1

FT8C401  FILLER BREATHER 6 HOLE 40 MICR 1
R1 R1 INDICATOR TO SUIT FILTREC 1

GX390UT2Q XQ 4 13HP HONDA PETROL ENGINE 1

ZZ004722 • 20 HP HONDA LOGSPLITTER KIT

208/050 DA CYL 140/120/70/500 1
GPCBN220PC 22GPM LOG SPLITTER HI-LO PUMP 1

200.0725.14.001 HDM25/1K 03 150/A01L100 1
200.7022.2001.0 M10X185 LEVER HDS15/HDS20 1

FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL3M10 254MM LEVEL INDICATOR M10 BOLT 1

BELLHOUSING/
COUPLING BELLHOUSING/COUPLING 1

A120C10 A120C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1

R1 R1 INDICATOR TO SUIT FILTREC 1
GX630-F-M 20HP HONDA ENGINE WITH RECOIL 1

06183-Z 6L-B0F-L EXHAUST TO SUTI GX630 LEFT 1

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 
10 tons approx of cutting force.
The Low Pressure Cylinder
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder
Extension Time =  Approx 8 seconds.
The Cylinder Retraction Time =  Approx 4.5 seconds.
Cylinder speeds will alter with size of log and speed of engine. 

&203$7$%,/,7<�
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  AND 
HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  AND 
LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 15.7 
tons approx of cutting force.
The Low Pressure Cylinder 
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder 
Extension Time =  Approx 6 seconds
The Cylinder Retraction Time =  Approx 3 seconds.
Cylinder speeds will alter with size of log and speed of engine. 

&203$7$%,/,7< 
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  
AND HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  
AND LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 15.7 
tons approx of cutting force.
The Low Pressure Cylinder
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder
Extension Time =  Approx 6 seconds
The Cylinder Retraction Time =  Approx 3 seconds.
Cylinder speeds will alter with size of log and speed of engine. 

&203$7$%,/,7< 
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  
AND HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  
AND LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

294-298 2017 Flowfit Log Splitter Kits.indd   296 18/10/2016   11:52



MANUFACTURERS AND SUPPLIERS OF HYDRAULIC COMPONENTS

297FLOWFIT LOG SPLITTER KITS FLOWFIT LOG SPLITTER KITS

www.flowfitonline.com
TECH. DATA SHEET
LSK02

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 001080 5.5HP LONCIN LOG SPLITTER K IT 7.7 TON FORCE £508.65 € 686.67

ZZ001080 • 5.5 HP LONCIN LOGSPLITTER KIT

FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL2M12 127MM LEVEL INDICATOR M12 BOLT 1
200.0514.12.024 HDM140K 02150A01L100 1
200.7022.1019.0 M8X150MM LEVER HDM140/HDM11/ 1
A110C10 A110C10 1
GPCBN080PC 8GPM LOG SPLITTER HI-LO PUMP 1
M8X25CAPHEAD M8X25CAPHEAD 8
M8X35CAPHEAD M8 X 35MM CAPHEAD 4
M8SPRINGWASHER M8SPRINGWASHER 12
M8NYLOCNUT M8 NYLOCNUT 4
204/050 DA CYL 80/70/40/500 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
BHE112/045A LOGSPLITTER BELL HOUSING 1
HC219MC048 DRIVE COUPLING ENGINE HALF. 1
ER200 ER300 GP 3 D/COUPLING SPIDER 1
HC212HB035 DRIVE COUPLING PUMP HALF 1
R1 R1 INDICATOR TO SUIT FILTREC 1

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING
23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 7.7 
tons approx of cutting force.
The Low Pressure Cylinder
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder
Extension Time =  Approx 8 seconds.
The Cylinder Retraction Time =  Approx 4.5 seconds.
Cylinder speeds will alter with size of log and speed of 
engine. 

&203$7$%,/,7< 
$%29(�.,7�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX160Q  AND HONDA GX200Q .
LONCIN G160FQ  AND LONCIN G200FQ .
FUJI  ROBIN EY15 AND EX15.

294-298 2017 Flowfit Log Splitter Kits.indd   297 18/10/2016   11:52



MANUFACTURERS AND SUPPLIERS OF HYDRAULIC COMPONENTS

298 FLOWFIT LOG SPLITTER KITS

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 001081 9HP LONCIN LOG SPLITTER K IT 10 TON FORCE £695.43 € 938.83

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 001082 13HP LONCIN LOG SPLITTER K IT 15.7 TON FORCE £845.64 € 1,141.60

PART NUMBER DESCRIPTION
£ STERLING € EUROS

Z Z 004717 20HP LONCIN LOG SPLITTER K IT 22 TON FORCE £1,880.59 € 2,538.80

ZZ001081 • 9 HP LONCIN LOGSPLITTER KIT

GPCBN110PC 11GPM LOG SPLITTER HI-LO PUMP 1
FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL2M12 127MM LEVEL INDICATOR M12 BOLT 1
200.0611.13.042 HDM11S1K 03150A01L100 (1/2) 1
200.7022.1019.0 M8X150MM LEVER HDM140/HDM11/ 1
205/050 DA CYL 90/80/40/500 1
G270F-P LONCIN 9HP PETROL ENGINE. 1
A110C10 A110C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
BHE112/045A LOGSPLITTER BELL HOUSING 1
HC319MC048 DRIVE COUPLING ENGINE HALF. 1
ER3 00 ER300 GP 3 D/COUPLING SPIDER 1
HC312HB035 DRIVE COUPLING PUMP HALF 1
R1 R1 INDICATOR TO SUIT FILTREC 1

ZZ001082 • 13 HP LONCIN LOGSPLITTER KIT

GPCBN160PC 16GPM LOG SPLITTER HI-LO PUMP 1
FL2M12 27MM LEVEL INDICATOR M12 BOLT 1
200.7022.2001.0 M10X185 LEVER HDS15/HDS20 1
206/060 DA CYL 100/90/50/600 1
p 13HP LONCIN PETROL ENGINE 1
200.0718.13.002 “ HDM181K 02150A08L100 1/2”“ ” 1
BHE152/045A LOGSPLITTER BELL HOUSING 1
ER300 ER300 GP 3 D/COUPLING SPIDER 1
HC312HB035 DRIVE COUPLING PUMP HALF 1
HC325NC048 DRIVE COUPLING ENGINE HALF 1
A120C10 A120C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
R1 R1 INDICATOR TO SUIT FILTREC 1
FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1

ZZ004717 • 20 HP LONCIN LOGSPLITTER KIT

208/050 DA CYL 140/120/70/500 1
LC2V78FD 20HP V TWIN ENGINE LONCIN 1
GPCBN220PC 22GPM LOG SPLITTER HI-LO PUMP 1
200.0725.14.001 HDM25/1K 03 150/A01L100 1
200.7022.2001.0 M10X185 LEVER HDS15/HDS20 1
FT8C401 FILLER BREATHER 6 HOLE 40 MICR 1
FL3M10 254MM LEVEL INDICATOR M10 BOLT 1
BELLHOUSING/
COUPLING BELLHOUSING/COUPLING 1

A120C10 A120C10 1
07.017.00006 FA-1-20/21-0-R-0 ALUMINUM RETU 1
R1 R1 INDICATOR TO SUIT FILTREC 1

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

LOGSPLITTER KIT COMPRISES OF THE FOLLOWING

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 10 tons 
approx of cutting force.
The Low Pressure Cylinder 
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder 
Extension Time =  Approx 8 seconds.
The Cylinder Retraction Time =  Approx 4.5 seconds.
Cylinder speeds will alter with size of log and speed of engine. 
 
&203$7$%,/,7< 
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  AND 
HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  AND 
LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 10 tons 
approx of cutting force.
The Low Pressure Cylinder 
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder 
Extension Time =  Approx 8 seconds.
The Cylinder Retraction Time =  Approx 4.5 seconds.
Cylinder speeds will alter with size of log and speed of engine. 
 
&203$7$%,/,7< 
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  AND 
HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  AND 
LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

23(5$7,21$/�'(7$,/S
At 3000 rpm and 3045 psi-210 bar this system will give 15.7 
tons approx of cutting force.
The Low Pressure Cylinder 
Extension Time =  Approx 4 seconds.
The High Pressure Cylinder 
Extension Time =  Approx 6 seconds
The Cylinder Retraction Time =  Approx 3 seconds.
Cylinder speeds will alter with size of log and speed of engine.
 
&203$7$%,/,7< 
$%29(�.,7S�:,//�),7�2172�7+(�)2//2:,1*�(1*,1(S�
HONDA GX240Q , HONDA GX270Q , HONDA GX340Q  
AND HONDA GX390Q .
LONCIN G240FQ , LONCIN G270FQ ,LONCIN G340FQ  
AND LONCIN G390FQ .
FUJI  ROBIN EY30 AND EX30.

294-298 2017 Flowfit Log Splitter Kits.indd   298 18/10/2016   11:52




